
Which	
  of	
  the	
  following	
  could	
  be	
  a	
  
(physical)	
  electros8c	
  field	
  in	
  the	
  region	
  
shown?	
  

I II	
  

A) 	
  Both	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  B)	
  Only	
  I	
  	
  
C)	
  Only	
  II	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  D)	
  Neither	
  	
  	
  	
  	
  	
  	
  E)	
  ??	
  

Why?	
  

R13	
  



D)	
  None	
  of	
  these	
  
E)	
  Answer	
  is	
  ambiguous	
  

To	
  	
  find	
  E	
  at	
  P	
  from	
  a	
  nega8vely	
  charged	
  sphere	
  	
  
(radius	
  R,	
  volume	
  charge	
  density	
  ρ),	
  
	
  
	
  
	
  
	
  
What	
  is	
  	
  	
  	
  	
  (given	
  the	
  small	
  	
  
volume	
  element	
  shown)?	
  

P=(X,Y,Z)	
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 
E = 1

4πε0
2∫∫∫ ρ dτ '

Correct	
  vector	
  is	
  shown	
  on	
  the	
  next	
  page…	
  



To	
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  E	
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  P	
  from	
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